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No. 1 2 4 5 7 & #HE
E F 4 CR CR CR CR CR [=Riva
1 hiE EHX sk kk kk dk kk 10 1 P
2 BNl —=—= sk kk kk ok kk 10 1 P
3 K fE— sk kk kk kk kk 10 1 P
4 ZF0 BE sk ok ok ok kk 10 1 P
5 £k FEBEI# sk kk kk kk kk 10 1 P
6 A EF K% %k kk kx 0k 10 1 P
7 7% I1EHR sk kk kk kk kk 10 1 P
8 BIR X sk kk Rk Rk k% 10 1 P
90 tHiZE & ok Kk kk dk kk 10 1 P
10 Bl B= sk kk kk ok kk 10 1 P
12 AY) — ok kk kk dk kk 10 1 P
13 KE pE— sk ok ok ok kk 10 1 P
14 ZFith HE sk kk kk kk k% 10 1P
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No. 1 2 4 5 7 & #HE
E F 4 CR CR CR CR CR NE{iz
1 #hiE &HX *k Kk *k %k 8 3P
2 8Bl —== *  kok * 4 7
3 K H— * 1 11
4 1:%[] & * % % 3 8
5 £k FEBEI# % dkk kk kk kk 9 2 P
6 XA EF Kk ok ok * 7 4P
7 % IEH x wk*kx 5 6P
8 BIR X sk kk Rk Rk k% 10 1 P
9 fBiE T * % kkx x 6 5P
10 Bl & 0 13
12 BY) — * 1 11
13 XK fE— * Hok 3 8
14 Fith HE * kK 3 8
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NO. E F 4 1 2 4 5 7 |BEfL
& H Cha cha
1 thiE X 2 1 6 2 2 1.0
5 k& B 4 4 1 4 3 4.0
6 HHEA 1IEF 3 2 2 1 4 20
7 % IEBH 5 5 5 3 6 5.0
8 AR X 13 3 5 1 3.0
9 ME 6 6 4 6 5 6.0
& H Rumba
1 thiE X 2 2 6 2 2 1.0
5 tkik FEM 5 4 1 3 3 4.0
6 HHE 1IEF 3 1 2 1 4 20
7 % IEBH 4 5 4 5 5 50
8 AR X 13 3 4 1 3.0
9 ME 6 6 5 6 6 6.0
HRERER
No. E F A C R & &
1 GthiE X 1.0 1.0 2.0 1.0
5 kik HEBE 4.0 40 80 4.0
6 HHA EF 2.0 20 40 20
1 & IEHR 5.0 5.0 10.0 5.0
8 A X 3.0 3.0 6.0 3.0
9 HHE =& 6.0 6.0 12.0 6.0
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1 11030032 G ithiE %X MNEF BF
2 11050222 G #E)Il —== =i #F
3 11040563 G #5K fE— R EHF
4 11020101 G =81 BGE Bi5 WF
5 11030289 G fcik HEH & HBE¥
6 11040379 G KH EF KB =/MF
7 11074973 G #r5% 1EBA Bl LoAs
8 11040460 G HIE #xX HiR SH&F
9 11040600 G #H:ZE 35& b EF
10 11050302 G HJII & alll EF
11 11050391 G =1 % =i H<H
12 11040582 G H1] — ML EFF
13 11030198 G X BE— Pk BF
14 11030250 G #FHith IThE £ 1&F
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